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Nute:- Section His compulsory, Allompd any THREE (3) questions frum Soctivn C but question No.) is compuisary.

(SECTION-B_p».r)

2. Wiite short answers to any SIX paris. (gx2=12) B p P Langedf 2
i Define exponential equation, Eyilendist i
ii. Solva by laclorization y +2y -9 = 0 \(’*2‘{—99=ﬂ'£:9’l5}?41i i
1Y _9 1y .2
ii. BSalve 2.\'-——) - - - D -

[ 2) 73 [2’ z] i

. Find the sum and product of mcls of (¢ mx* s (menly+n=f=D (11-mh‘!-r(|1-|+nh+rrf=ﬂ.ér#‘.r'jwl-ﬂa£¥;?u£ﬁ:-hu v

v. Provemen syt = () Greap)eraty) Py = (xrp)(xtop) (xro'y) ok
vl Use synihetic ghvision ko find quotient and rernalnder, : - 7 i
4 SIS 1) o e (2 15) + (eIt Uk AP L SIS
Bl ESE i

vii.  Define joint variation

1 iy 1
vii. A =— and A=2, when r =3. Find the constant of variation &: LSk LE =B A2 Mﬂt;,—f’ vill

7~
ix. Findxif 80m:00m: : 20kg:xkg 60m: 80m : : 20kg: xkg [ & Fx ix
3. Wirite shorl answers to any SIX parla. (6x2=12) AN Lagigedf 3
I Whalls & proper lraclion? ?q.-ﬂfy’ At
il = j:;(fia =’:4 +£5.menfndvameomalws. .;‘5(?‘-:—!-58411\?5 (xj:)—(ifii%): :cf4+-:£_3ﬁ Al
ii.  Define inlersaction of two sets. EyfigELyr i
v, IA=(1357), B={12345) then find AN B e a0 J re=(12345) < A=387) [ v
v. Find@andbit(@-2a, b-D=(a-7,2b+5) (3-2a,b-Dela-7,20+ 8): b lpPbaa v
vi. W L=(a.bzbthen find two binary relations of L x L. Ao ndien L LxUnL=laba/i v
vii.  Write down two properfles of arithmetic mean. B Faler el il
wii,  Find Ing geomebic mean cf the obsarvations 2.4, 8. 24,8 E P A It il
ix.' Findmode:d,4.6 58567757588 88668657 44556667 7675888666570 i
4. Writs short answere to any SIX parts. {Gx2=12) .‘fg,-‘.-fwﬁé.lzq‘.ﬂ( A
| Corvert 3—:- into degree. Fdirshf -zi:- i
i Provetnal sin G(tan d + cot 8) = secd . sin6(tan 6 +cot §) =secd Eat
il find @ when radius=35 cmand f=2cm wls2f A r35p B O
B b

iv. Detine radian,
-éh!.;diﬂf-]' v

AL Sl
!‘.;.,!,P'.:.m il

v. Defineright angle.
4. Differentiale botwean the chosd and lha dlamater of a clrcle.
Jii,  Whatis meani by perimetar?
Tha length of the €ide of a regular pentagon Is Gam find the perimetor. ,érhtw:;f(&.‘vdd’&/ PSR
Ea A Sl
(TumOver  glila)

willl,
Jdx

ix. Defina cyclic quadritaterai.



(2)
{(SECTION-C /-2
{4+4=0) -d/ﬂidlr;r.{-dﬂlg),r’dlrug.ﬁ: al,'#&-&ln-fz.&f

Aflempl any THREE quastlions but question Ma.9 Is compuisory. Each question carrips EIGHT marks. (4+4=8)

5(a)  Solve by using quadrauc tormula: x+2 4';‘. - 1.1. £22, E-:—":=2% .(:EJC-LED‘PILIILE‘,{,‘”, (a).5

-1 2 3 S
(b} Find te value of k. sum of squares of the mols of the equalion

i s 2 abiur i LAk B =0 bl NP Ak ()

6(a)  Soive by using theorem of componando - dividendo fébfé'ﬂi-/dlp""’jy’d;y (&) 6
wed) -4 12 - -x-4) _12
(v=2) 4 (¢ ~d) 13 (x=2y+(x=d4) 13

_ : 1 | . i
(b}  Resoive inta panial fraction: (-‘—:—'WS G D) -a:-d-’?uﬂw/wz (o)

7{a) 1HU=(123, . .20} X={1379151820} Y=135.......17} 7 Y=(135..... 1T}k x={1.3.79,15,15.20}U!-(1.2.3..--.,.-20]«"! (a).7

then show that X 1Y =X-Y XAY=X-Y Szt
(6) Find standard deviation: 12,6,7.3.15,10,185 12,6,7,3151018,5 : &0 21 Ak ()
a(g) Msing-= i andcosd - _TB'”"“'“ find the values of tand,col 8,secd and cosec

cf,-}“_-"é cosec & s sect,cot @, 1anf ix cosﬂz:f- a sind = ff' (@.8

(b]  Inscribe a circle in a AABC with sides [ABf=6cm, [BCI=3em, lcal=4cm.

a3 O WS CA  BC AB b L frfzn S ARBC  (b)

8 Prave hat perpendicular from the centre af a circle on a chord bisects it. _-g-L-f.mﬁcﬁ'tsf4};;.9’¢.ff£.;}b.faé_-‘h' -2
OR El

Prove thal the opposite angles of any quadrilateral & : - -
inscribed in a circle are supplemeriary. AL L it FF gt Lofririn e ingd &t
111-224-1A-34000



